Standard Series

Exercie 3€

(9 Show é Y(ra—‘s)lt_ Z}:h(h*')(nz-t-a;a 4—5)

“ "
f P(V*B)L: Zr(r'z',,_GV*‘() = Z((‘3.}—éfl+4/>
ro roo

r=0(

Ll
—

V\'ZCH«-(-().L + —é—h(nﬂl—()(an-() + %V\CMA'()

I

W(awd” + L alne)(Zae) + LEn( o)

1}

n
4
3
4
ﬁh(na—l)[h(n.}—\\ .(-4(2;4-\—-1) o [’8-7

h(n-&l)[ NEarn + 8natd + ‘81

t

I/

2(_[’
= ’Z'ﬂ(“*')( V\'L"’"qh -P‘Z_z)

=

cl&\ r\f(z(r_() = ‘l—,i"\<r\+l)<3ni—u\—2)

r=|

%( r(r-) = szZ““)(Z“"*'sz-dl—(zn_o_z

o
= 71’5,(2“")(2"‘)(3(4“" ~dn+) —2n+I(- l)

-

= %’L<Zh"\>"\(llv\q-—l1n-l—3 "'Z"\—’()
E (g n (12 1 2)



- 5 (Z..\-l)v\C G- =7, 4—-()

MixeA Enrercise 3

—Z =z
= 3_"‘1_ 1
2 3

n4\

’é"’h("\'l't)(va-c) = 9 ,2( + 4
,IZ,,\(V\_(—()(’LH{—() :ﬁ_(y,q.()(n*z_) A—Vl4~(
pA

%‘H(w*')(zsq-l-\)—%(l«u—()(nez} -’%(h*l} - O

._]E (h+()[\f\(2w+‘) "‘27("’4‘1> - éj - O
F ml N — - — - = O
tCV)&Q[ZhI‘—ZéH - on - a



"j(hzh()( WS~ 13w —30) = O

A]"(h-l—l)(h +—z>(u,_:»5-) =~

h 70 :> n = 'S

Co-—»%c‘nue w:ek Syuen mus—..éers s.éq./‘(’(ﬂ.j Q‘é L




